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7 R AR ) Vel

float f1 = 2.2; float f3 = 2.25;
if (f1 ==2.2) { if (f3 == 2.25) {

} EEI;’C{("H e printf("f3 == 2.25\n");
printf("f1 1= 2.2\n");

} else {

) printf("f3 1= 2.25\n");

float f2 = 2.2;
if (f2 == 2.2f) {
printf("f2 == 2.2f\n");
} else {
printf("f2 1= 2.2f\n");




7 R AR ) Vel

float f1 = 2.2; float f3 = 2.25;
if (fj == 2.2) { if (f3 == 2.25) {
printf(*f1 == 2.2\n"); printf("f3 == 2.25\n");

} else {

printf("f1 != 2.2\n"); } else {

printf("f3 1= 2.25\n");

float f2 = 2.2;
i (F2 == 2.0f) { $ gcc float_demo4.c -Wall
printf("f2 == 2.2f\n"); $ ./a.out
f11=2.2
} else {
f2 == 2.2f

printf("f2 1= 2.2A\n");

f3 == 2.25
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7 R AR ) Vel

float f1 = 2.2;
UCURRE AN (- Sk AR double KR!, 2 2R HEHHT),
printf("f1 == 2.2\n"); float 58492, 2f1double2cBIAY2 22 ATBERY, FrLAM

} else { -
printf("f1 1= 2.2\n"); AFTF22

float f2 = 2.2;
if (f2 == 2.2f) { floatzRENRINEREUES, FrlA2.2f2floatsEEl

printf("f2 == 2.2f\n") FRLAf2Z:TF-2.2f

} else {
printf("f2 1= 2.2A\n");
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7R ARSI/ VER

float f3 = 2.25;
R R — 2 25 S AL UEHE R

printf(’f3 == 2.25\n'); floatEBUY2.25FNdoublesXRUfY2 25 AR EEH
else { FRIAf3ET2.25

printf("f3 != 2.25\n");
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